SIREvs 3faTe FTaa™ vd yREer uRkug

AT, IRGTS |

affe adiaT— 2022—2023
Aied U UA (dgfddeda) AT —1
T S Rikikd| 1 "er 30 fAe
fag . ariorsw qori® : 40

(U9 & d<d)

= Al —
> A 40 YT B |
> Ol yel ® SN Sifvart 2
>  UldP Y o v ta e fAgiRa 21
>  UdA® U @ 9K faeey Qv v 2 | 9 ey &1 999 B |
>  Tdd SR @ fov B3 3ie T8 B W |

WUs— ‘I’ (HIUTd ® d<d)

PART-"'A' (Elements of Business)
1. AU |9 § o= &1 Rafs fea faurr § wedar 27
(Which department keep the record of letter in a business
organisation?)
(A) UH R fd9rT (Co-despondence)
(B) Y fd¥RT (Purchaser Department)
(C) AT faWRT (Planning Department)
(D) T fART (Packing Department)
2.  FEIT AT & NG 2 ... ?

(Principle of office of organisation is ........... ?)

(A) Be¥g &1 g (Principle of objective)

(B) &= &1 Rigra (Principle of flexibility)

(C) H=ag &1 g (Principle of Co-Ordination)
(D) TH 4T (All of these)



AT Teq DI ScafT fba- Isal A 83 27

(How many words are there in origin of office?)

(A) 02 (B) 03 (C) 04 (D) 05
$IF A1 AREG SETaa &1 & T8 27

(Which one is not a function of business office?)

(A) YA U dRAT (To receive a letter)

(B) U= UNT (To sent a letter)

(C) &R (Filing)

(D) 99 (To make decision)

FTe AHAVG &I Afaser feae fear?

(Who invented Card Indexing?)

(A) U4 ARTR (Abe Rosier) (B) U9 (Grace)

(C) = ®Ie (Henry Ford) (D) 9Ted 9 (Graham Bell)
qyfiafafis<er @7 a9 g fafer 27

(The oldest method of duplicating is )

(A) fSTeifest gomell (Gelatin Method)

(B) <% uoTrell (Lithograph Method)

(C) f~Fa1 gumell (Stencil Method)

(D) 3ifHde woTretl (Offset Method)

M arel uAT &I g1 fHar smar 27

(Inward letters of generally received by .............. ?)

(A) SId g (By post) (B) TR gRT (By peon)
(C) IR g1 (By Courier) (D) 79 |41 (All of these)
TS BT 92T AT ©7

(What are the objects of Filing?)

(A) =T H UomH & I (Proof for court)

(B) U &I AT & oIy (Safety of letter)

(C) Jur~a 3maedddr (Judicial need)

(D) TH 4T (All of these)



10.

11.

12.

9T BIgd &1 q&F 3T 87
(Main file of shannon file is .......ccccuuu.... ?)

(A) 3R (Almirah) (B) dR (Wire)

(C) HAJHIH UST (Box) (D) HIC &R /<9l (Thick paper)
a1 faferal o A9 1 1= 9 Toa fFI-T6T gl ® @ 18
U I e B fov B9 W srgmmitter faftr aoes ey 27
(Which Indexing method is adopted to find on which pages the letters
sent on different dates were copied?)

(A) WTER FHATOTRT (Simple Indexing)

(B) &I IAIHAMOIGT (Card Indexing)

(C) =TI AR (Wheel Indexing)

(D) G AIHAIOMDT (Cross Indiexing)

I FTe Gobd dre dell aquierfa s1e &9 W agsmivte faftr
FI TSl G 87

(Name card Guide Card and Absent card are essential material of

which indexing method?)

(A) ERIHSD IHHIOBT (Vowel Indexing)

(B) el hATOTDT (Cross Indexing)

(C) IS IJAFHAMGT (Card Indexing)

(D) el Prs hHANUIRT (Visible card Indexing)
gfafafeser @ o 2 ....?

(Benefits of coping .............. ?)

(A) faspa & wdl 4 Gfaem (Convenience in term of sale)

(B) SIS} ARTH H FfAem (Convenience to place orders)

(C) faarsi &1 fuer d gfaem (Convenience to settling disputes )
(D) TH 1 (All of these)
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14.

15.

16.

17.

1 f 999 gRET uYe den awar gfafafy a9 &1 fafer eta—ar

27

(Which of the following is the oldest easiest and cheapest copy to get

a copying?)

(A) B ¥ gfafefu (Copying by hand)
(B) <19 ¥4 (Press machine)

(C) &9 YuR gRT (Carbon paper)
(D) &b T (Zerography)

Blesr BT FANT fHar Sirar 22
(Folder is used in?)

(A) TSI ®wrga (Vertical file)

(B) < arell ®wIsa (Tag file)

(C) 399 ®Igd (Shannon File)

(D) Agddrell Bigel (Box file)

A wefi= 4 gfafafy sy 282

(Coping by rotary machine is useful for?)

(A) e AUIRAT & Ty (For Retailers)

(B) ®Ic AMIRAT & ey (For Small traders)

(C) 9% @UIRAl & fov (For Big traders )

(D) TRl & T (Customers)

ARG 931 B fead A § faufoa a3d 27

(In how many parts commercial banks can be divided?)
(A) 02 (B) 03 (©) 04 (D) 05
Ugell IR dB1 BT I ST fba as foar Tar?

(In which years banks were nationalized for the first time?)

(A) 1979 (B) 1959 (C) 1969 (D) 1949



18.

19.

20.

21.

22.

23.

SIHER d9d @aT feaq @ 4 ga 7+ foran ran 287

(In how much time a post office saving account is considered in

corporate?)
(A) 9 99 (Three years) (B) U@ 99 (Five years)
(C) ¥1d 9y (Seven years) (D) T Y (Ten years)

Ie $1 DTl F0T BT A1 dF <41 ©7

(Which bank provides long term loan to industries?)

(A) @UIR® d& (Commercial Bank)

(B) ¥9d §& (Saving Bank)

(C) 3ienfir® 9% (Industrial Bank)

(D) EBRI d& (Co-Operative Bank)

s fasra 9= AT $9 < $Y < TS7

(When was India Vikas Patra Yojna with drawn?)

(A) 1988 (B) 1999 (C) 2001 (D) 1990
SIHER 99d @d § &9 4 & fha Al o9 & 9ad 2?

(What is he minimum amount to be deposited in post office saving

account?)
(A) 100 ®TIT (Rs. 100) (B) 50 w4UaT (Rs. 50)
(C) 30 wUAT (Rs. 30) (D) 20 ®UAT (Rs. 20)

9 3Mfre =arel f59 @ W) frear 872

(Highest rate of interest is provided on which Account?)

(A) dref @rdr (Current Account)

(B) d=d 9rdr (Saving Account)

(C) ¥l S &M (Fixed Deposited Account)

(D) 3maxil STAT @rar (Recurring Deposited)

aeet gfafafasser &1 o1 87

(Quality of an ideal coping is?)

(A) THaaafadr (Economical) (B) 9XeIdr (Simple)

(C) ¥ Ufd (True copy) (D) sTH & 1 (All of these)
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25.

26.

27.

28.

U ATAITIS e & b= fd=g 27
(The central point of whole business concern is?)

(A) fdUvH us= (Marketing management)

(B) ¥aradiig ye=er (Personal management)

(C) dred Ud (Production management)

(D) ®rafer uew (Office management)

e 121 N Ue o aiftredn W d fedsl Thd off o
el 27

(Maximum number of copies mode at a time by Rotary Machine?)
(A) 500 (B) 150 (©) 50 (D) 35
"R § ST $T 981 A8 © ol U@ "ol 4 J&u Ry &1
21" g8 du feasr 87

(""Office is as important to a business what the main spring to a
watch'- Who said this?)

(A) SR (Dixy) (B) &1 ®Is (Henry Ford)

(C) ward (Feyol) (D) S0t g8a (J. C. Behl)

TF AAS P oIl ST TRITBIOT YUl HiA df 87

(Which filing method is suitable for a teacher?)

(A) <TUil BIsel (Cardboard file)

(B) WiesY wisa (Folder file)

(C) APl drell BIsel (Arch file)

(D) 399 ®I8d (Shannon file)

TF A U &I [T 87

(Which one is a characteristic of an ideal letter?)

(A) et (Clarity) (B) Xa=wdl (Neatness)

(C) dfer<d (Short) (D) 3 91 (All of these)
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31.
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33.

35 AT @ forq Sudaa sgufafafies<er gomelt sia—t 87
(Which is suitable?)

(A) TIRMH (Hectograph) (B) <% (Lithrograph)

(C) =f~Fa (Stencil) (D) e (Rotary)

Ugell R fa-dl S I a1 451 BT AEASRT fhAr TAT?

(In first nationalization of banks what was minimum deposit
amount?)

(A) 50 TRIe ®UY (Rs. 50 Crore)

(B) 50 ®RIS ¥ 3Mferd (More than Rs, 50 Crore)

(C) 30 ®xIs ®UY (Rs, 30 Crore)

(D) 100 @€ wUY (Rs. 100 Crore)

old Udh SIeeN quN saeR &I fadl afea & eq=fd 3 &1
JTRT <A1 @ A1 U Ped B2—

(When a post office order to another post office to pay amount to any

person is called?)

(A) #1 3ifSX (Money Order) (B) UREd 3ifex (Potal order)

(C) 91 (Insurance) (D) urEd (Parcel)
FOT AT §F B ...ooooee..e. & 27
(Granting loan is .......... function of Bank?)

(A) WIS (Primary) (B) g (Secondary)
(C) <m™IfSI® (Social) (D) 3T ¥ ®Is 78l (None of these)
/1 7 9 @19 91 I9ary &1 U feuarfia & @) 87

(Which of the following is not a departmental wok in business?)

(A) $HI—fd%HT (Purchase & sale)

(B) HAfGR ¥ g &=AT (Worship in temple)
(C) I (Planning)
(D) @Al (Accounting)



34.

35.

36.

37.

38.

IHATTST BT I2e B2
(What is the purpose of Index?)

(A) YAl BT ARerar A ge (Easy to find letter)

(B) UTEdI & TGN (For customers information)
(C) PHAIRAT B IHGIRAT (Employees information)
(D) TH 1 (All of these)

A% fafaa arsm o giar 87

(Cheque is a written order instrument?)

(A) ¥ |f2d (Conditional)

(B) ¥ @ (Unconditional)

(C) Sudad Tl (Both (A) and (B))

(D) $TH & Pis el (None of these)

H—%cl AP Hoelldl 27

(Damaged cheque is called?)

(A) BRI IF (Blank)

(B) @ifd od (Crossed cheque)

(C) fd&d =% (Mutilated cheques)

(D) $TH & PIs el (None of these)

d% gIee 27

(Bank Draftis a ...... )

(A) T 93 (Quotation Letter) (B) 3M<el U= (Order Letter)

(C) <l (Both (A)& (B)) (D) 374 & @IS 9el (None of these)
d & gmaE @ fay feaa fog Raed foq @ w0 4 g o)
27

(How many days are allowed as days of grace for payment of a bill?)

(A) 02 (B) 03 (C) 04 (D) 01



39. wfwai ik @ foy seqas =<t o I3 # =it 87
(In which machine analogy watch is instated to count copies?)
(A) TFRI® (Hectograph) (B) el gwiider (Rotary Duplicator)
(C) f~Fa (Stencil) (D) <fIRIM% (Lithograph)
40, IMET HId I YA GreT IEHET Giaeos 22
(While travelling, it is convenient to keep with?)
(A) dre® d& (Bearer Cheque)
(B) ~@ifdhd =d (Crossed Cheque)
(C) d& $e (Bank Draft)
(D) I TF (Traveller's Cheque)
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PART-"A' (Elements of Business)

SR UTg 99 § @ (Answer with five sentences)
f2l uia Ul & SN — (Answer any five question)
1.  AUIRE drATad b1 UIRATRNG HR?

(Define business office?)
2. IEHARTHT B I W BIE @) BieAE B o |

(Write any two difficulty in the absence of indexing?)
3. HEdl AHATHT fHd FEd 27

(What is a cross indexing?)
4. IS YT FT 87

(What is Zerography?)



9% g9 ¥ 3T T T © 7

(What do you understand by Bank Draft?)
TYqd 99 6 FEd 87

(What is Allonge?)

A% S IWIH & FI—FAT YAT Bl 87

(What is the effect of crossing of cheque?)

fp=21 UTd Ul &T SuX <— (Answer any five question):-

8.

10.

11.

12.

13.

14.

=2t g fag=h fafvaw fauz & = sfax fod |

(Write three differences between inland and foreign bill?)

i 13 9 3y T wEn 27

(What od you meant by Quotation Letter?)

IR AT 61 & 99 Do |

(Give the name of four nationalised bank?)

TP e MY IS gt Y fagiward forRav |

(Write the features of an ideal system of filing?)

ARG ST & "I &1 g H gREIRE $7?

(Define "Principle of objective" of business organization?)

fafm wren i@ @1 alamsr 9 e <1 fafswa ey gydan &
I fae |

(Define Negotiable instruments name any two negotiable

instruments?)

U 98® XS FT 8 q9UT SUDT A9 H T ATaeqHdl 872

(What is peon book and what is its need in business?)

fp=l I 99l @ STIX Q| (Answer any three question) :-

15.

grer A gfafafyevoer fafer @ o d it 31 aarer 37

(Explain the merits and demerits of hand coping method?)



16.

17.

18.

19.

Uh ARG ST B AT @ oy fea—feT )l &1 «a=
Gl TRy |

(What are the things to be kept in mind for setting up a business
office?)

ARG 961 & YA S ST 90 BN |

(Describe the main functions of commercial Bank?)

dg 999 B fagraare’ 1 quia #?

(Explain characteristics of valid endersement?)

9% QU dT 9% ¥ AR WS HR?

(State the differences between Bank draft and cheque?)



